ALGEBRA

CHAPTER 10

TEST REVIEW

1.  Is the vertex of the graph of 
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3.  Order the quadratic functions 
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4.  Give the equation of the axis of symmetry 

4.  

     for the function 
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5.  What are the coordinates of the vertex for


5. 

     the function 
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For #’s 6 – 8, identify the vertex of each graph.  Tell whether it is a minimum or maximum.

	6.    
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Graph each function.  (Use graph paper.)
9.  
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10.  
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12.  
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Solve by finding square roots.

	13. 
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No Solution
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No Solution


Solve using the Zero-Product property. 

	17.  
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	20.   


[image: image27.wmf]2

2

30635

353060

(18)(17)0

180     170

18        17

xx

xx

xx

xx

xx

+=-

++=

++=

+=+=

=-=-



	21.  


[image: image28.wmf]2

2

5176

51760

(52)(3)

520      30

2

            3

5

ss

ss

ss

ss

ss

-=-

-+=

--=

-=-=

==


	


Solve using the quadratic formula.  If the equation has no real solutions, write no solution.  If necessary, round to the nearest tenth.
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20.  The equation 
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 gives the kinetic energy of an object where E is the kinetic
       energy in joules, m is the mass in kilograms, and v is the velocity in meters per
       second.  Find the velocity of a 4 kg bowling ball when it has 160 joules of energy.
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The velocity is 8.94 m/s
21.  A model rocket is launched from a platform 2 feet above the ground with an initial
       velocity of 100 ft/s.  After how many seconds will the rocket hit the ground?
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The rocket hits the ground after 6.27 sec.
22.  The Garys have a triangular pennant of area 420 in.2 flying from the flagpole in their
       yard.  The height of the triangle is 10 in. less than 5 times the base of the triangle.
       What are the dimensions of the pennant?
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Since the dimensions cannot be negative, we need to use 11.91 in.  Therefore, the base of the pennant is 11.91 in, and the height is 49.55 in (5b-10)
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